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Equations with fractions and/or decimals can be converted into equivalent equations
without fractions and/or decimals and then solved in the usual manner. Equations can
also be made simpler by dividing a common numerical factor out of each term.

Example 1

Solve: 0.12x+7.5=0.2x+3
Multiply to remove the decimals.

100-(0.12x+7.5=0.2x+3)
12x+ 750 = 20x + 300

Solve in the usual manner.

—8x =-450
x=56.25

Example 2
Solve: 25x*+125x+150=0
Divide each term by 25 (a common factor).

P +5x+6=0

Solve in the usual manner.

(x+2)(x+3)=0
x=-2o0or x=-3



